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Mathematics(Objective)

the Questions on the objective answer sheet provided. Four possible answers A,

Note: Write Answers {0
fill the corresponding circle A, B, C or D given in front of each question with Marker or

answer you consider correct,
14 Four 4" roots of 625 are:
(A) 14,14 (B) 15, £5i (C)
g : 2241
o Partial fractions of o are of the form:
A B Ax B
(A) x+1 x-1 ® z+1 x-1 O
3. A.Mbetweenx—3andx+5is:
(A) x+1 (B) x-1 (€
4. NotermofaG.P canbe:
A 0 (B) 1 C)
5. 87.6=
8! 8!
(A) 5 (B) 7 ©)
6. 4" > 3" + 4istre forintegers:
(A) nz? (B) nz3 ©)
7. nmm<Mme>ammmmmwmmmmmmmt
(A) I ®) 1l ©
1 - cosé
g ————=
2
] sin@ 8 sin? % (C)
9. Rangeofy = tanxis.
-1 T
(A) -é—S)’E-z’ ‘[B) -0 Ly £ (C)I-
10. 2R sin x= (A) r (8)
, SV _ 1
1. Sin (cos 7) = (A) 5 1{B)
12. Refe — 2. stnx =0s: 2 ®)
. rence Angle for 1 — 2 six = s (A) e
13. V2 € C, which one is truet
(A) g =£7 (8) g =¥ ©
14. A prime numbef can be factor of a square only if it oocurs in it at least.
(A) Once {B) Twice (C)
15, If A and B are disjoint sets,thenA - B =
(A) B (B) A ©
16. The converse of ~ p ~ qis:
(A) q-o~p ) p-4q ©)
17.  p Aqiscalled:
A Conjunction (8) Disjunction (C)
18. (AB)' =
A A'Bt ®) A'B ©)
19. A square matrix A is anti-symmetric if
A) At =—-A (B) A=A (o]
20 1+w+e?=
(A) 1 (B) @ ©)
§25-11-A
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8, C and D to each question are given. Which
Pen ink on the answer sheet provided.
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9 \Write short answers of any eight parts from the following: (8x2=16)
i Define a complex number. I 0 a complex number?
i, Whether the set {0, —1} s closed or not w. r. t addition and multiplication.
ii. Factorize: 3x2 + 3y?
iv. Find multiplicative inverse of =3 — 5i
v. Construct truth table of ~(p — qQ)—p
vi. Define monoid.
Wi, Fing the matrx X it | >, 4= s 2] | | )
\ii. lfAandB are square matrices of the same order, then explain why in general (A + B)? #MA2 F2AB + B?
1 | '
x. IfA= [1 + i}, find A(A)"
L
x. Find four fourth roots of 81 _
si. Use the remainder thsorem to find ihe ramalnder when x3 — 2x3.+3x +3 is divid,ed_bj-x -3
i, foc, B are the roots of 3x2 = 2x + 4 =0  find the vall of 2% £ "y
3. Write short answers of any eight parts from the following: (8x2=16)
i. Define conditional eq: Jaﬂon . e
ii. Resolve W into pamai fractlon  without finding constants it
i Find the first four terms of thie 9~e___quence Oy = oy
iy Determine whethe ~19is aterm of 17, 13,9, -
oo MpeOPa 62
yio Sumghe series% +202+ % feadily ,.
Jiiz BBfove from the first principle that npo=n. " Py
viil. Find the value of n when M= "Gy
i. Determine the probability of getting dots less than 5 when a die is rolled.
. Provethatn! > 2" — lforn = 4,5
i Calculate (2.02)* by means of binomial theorem.
xi. Expand (1+ 2x)7" upto 4 terms.
4. Write short answers of any nine parts from the following: (9x2=18)

Write values of trigonometric functions for & = "—_j-n g

1
Prove that t20 — cos?8 = cot?6 cos?0 . &_
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vil,
vii.
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Note:
5.(a)

gwf~1—2>7

Prove that sin(8 + 270) = —cos6.

Prove that sin26 = 2sinf cosf.

Express sin12 sin46" as sum or difference.
Write domain and range of cos x.

Find period- of sin,

Draw the graph of tanx forx € (0,m)
Prove that r = (s — b)tan %

Write any two half angle formulae. o
When angle between ground and sun is 30°, flag pole casts a shadow of 40m long. Find height of top of flag.
Show that cos(sin~tx) = V1 = x2. .'
Scive the equation 4 cos?x —3 =0 g
SECTION

Attempt any three questions Each questlon carries equal marks: ( (10x3=30)
If o and p are the roots of x? —3x + 5 = 0, form the equation whose roots are, _ '

i g T8 ' ' ' \

1+ e 1+8°

~ J\/ .'..

. 1 =1 2Z- 1
Find the rank of M. fiX [2 -6 5 "1
3 5 .4 =

into partial fractions. % R

Resolve —"——*_(x D2(x24+2) ‘ .

Find six arithmetic means between 2 ands..

Adieis thrown" Find the probabiiity that the no. of dots on the top are prime numbers or odd numbers.

If x is so small that |tscube or hlgher powers can be neglected, show that ’ = l-x+2 x2

 Solve the triangle ABC; given that <= 35° 17 B = 45" 13,b = 421.
Reducd’cos*0'toan expression involving only function of multiples of 6, raised to the first power.

A circularwire of radius 6 cm is cut straightened and then bent so as to lie along the circumference of a
hoop of radius 24 cm. Find the measure of the angle which it subtends at the center of the hoop.

-19

gl |

Prove that: tan™ 1=+ tan™1 = = tan
4 5 19
826-11-A



